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For All test environment’s =
Subnets NAT occurs at FW  FW Erv B-(Test) FW — Env A (Live)
Env B-Test i.e 5.5/5.0/24 = 4.4.4.0/24
1.1.1.0/24 NAT static NAT for "
individual IP’s to 10.1.1.0/24 bt
IP’s 2
Similarly for other subnets =
as, 2.2.2.0/24 NAT to TestEny b
10.2.2.0/24 IP’s and so on.
For E.g 1.1.1.20 Host is NAT I
to 10.1.1.20/24 to talk to
outside the environment
Sothe user1.1.1.1in Live is
trying to access 10.1.1.20
from the Source Server 10.10.10.0/30
Core Switch Env B (Test) Core Switch — Env A (Live)

What | tried to achieve through this:
nat (Test_Env,Eng_Test) source dynamic obj_1.1.1.1 interface destination static obj_10.1.1.20 obj_1.1.1.20
service FTP FTP
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